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YIOYTCTBA 3A KAHIAUJATE

Ha 3Hak T7aBHOT JEXYpHOT M3BaAMTE IeMyJby (MICHTH(UKANMOHY KapTHUIly) Koja Ce Hala3W y KOBEPTH,
TIOMTYHUTE j& TPAXKCHUM JIMYHHUM ITOJIAI[FIMa, BPATUTE IEyJby y KOBEPTY M 00aBE3HO 3aJICUTE KOBEPTY.
BAKHO!!!

HA CAMOJ KOBEPTU HE CMETE HUIITA NUCATHU. HA UCITUTHOM TECTY U MAPTUHAMA HE
CMETE HAITUCATHU HU CBOJE UME, HUTH HEKY IIN®PY, HUTU BUJIO KAKBE JIPYI'E O3HAKE.
HUCIIMTHU TECTOBH KOJU BYJAY HA BWJIO KOJU HAYUH O3HAYEHU BURE OJIMAX
AUCKBAJINDPUKOBAHMU, BE3 IIPEIIEJIAIBA.

Hcnuthu TecToBu Onlie mmpprupaHi HAKOH IITO CBU KaHAWAATH HAIyCTe MECTO I10Jlarama UCIINTA.
YKOJIUKO TO HUCTE Beh yUHHUIH, CBOje JTUYHE CTBAapH (Topbe, paciukiie, jakHe...) OJUIOKUTE Ha KaTepy WK
gyuBuinyk. He 3a0opaBuTe Aa UCK/bYUYMTE U OJIOKUTEe MOOUIHe TeaedoHe Kao U OMJIO Koje apyre
eJleKTpoHcke ypehaje, koju He cMejy cTajaTn Ha KiIynama, HUTH ucnof mux. Ha knynama mory na 6yny
€aMo UCIMTHU TECTOBHU U OJIOBKE, COK HJIM BOJa, K0 M JINYHA KapTa/Macolll ¥ MOTBPAA O IIpHUjeMy TOKyMeHaTa
(yirctuh ca meyaToM W yIMcaHUM TIPUjEMHUM OpojeMm).

ITonecuTe cBOj 4aCOBHUK TAKO J1a C€ BpEME CJIaKe ca OHUM Ha YaCOBHUKY JEXypHUX. M3paaa 3ajaTaka He cMe
aa Tpaje ayxe o1 120 munHyTa. YKOJIHMKO TECT 3aBpIIATE IPE MCTEKa OBOT POKA, MOXKETE Jla HAIlyCTUTE
amdurearap / yIHOHHITY. Y TOM CIIy4ajy, OKPEHUTE TECT Ha JTUIIEe 1 OCTABUTE Ta HA KIYIH.

3a m3pagy 3amaraka MopaTe Ja KOPUCTUTE IJIaBy XeMHjcKy oJioBKy. Hujenan oarosop Hammcan
rpa¢puTHOM 0JIOBKOM MJIM OJIOBKOM Yy 00ju Koja Huje nmiapa Hehe 6uTH npusHat! Ako HemaTe IUIaBY
XEMH]CKY OJIOBKY, TIOTPAXKHTE j& OJ] IS)KYPHHUX.

OxpeHuTe ApyTy CTpaHHILy TECTa TeK Kala AeKyPHU o0jaBe 1a MOYMI-€ 3BAHHYHO BpeMe U3paje TecTa.
VY npBom neny tecta (PART A) CAMO 3AOKPYKHUTE jenan on nonyhenux oarosopa — HE TPEBA
YINHCUBATH PelIerha H Y TEKCT WIH PeYeHHITy.

VY npyrom aeny tecta (PART B) TPEBA ynucuBaTu peniema y TeKCT WIH PeYeHHIry.

MNAXKJBUBO MMPOUYUTAJTE YIIYTCTBA nata Ha MOYETKY CBaKoTr OJ BexOarma, M Mpe HEro IITO Ce
OIUTYYHUTE 32 jeHO OJ MOHYheHHX pemiema, wiu yrnumeTe cBoje pememne — [IAJKIbUBO TPOUYUTAJTE
HEJHU TEKCT WIU PEYEHULY U JOBPO PASMUCJIUTE.

Yxonuko cre Beh 3a0Kpy>KHIN WU YIUCATH JEHO PEIICHE, Ma e MPEIOMUCIINTE U KEITUTE J]a 3a0KPYKUTE
WM YTIHIIEeTe HEKO IPYTO pellerhe, TO Mopa OuTH ypal)eHO Tako J1a ce HeABOCMUCJIEHO BHAM KOj¢ peIIehe
Baxu. Ha npumep, b d, wri yak, yKOIHMKO ce TIOHOBO MPETOMHUCITHTE, b g
Ynotpeba KOPEeKTOpa 3a XEMHUJCKY OJIOBKY HHj€ JO3BOJbEHA.

MonmmMo oOpatute maxmy Aa Ha Tecty Tpeda naBatnu CAMO JEJHY Baxehy Bep3ujy oaroBopa — uehe ce
MIPU3HABATH OATOBOPH Ca BUIIIE OCTABJbEHHX AITEPHATUBHUX pelemhal Baxkehe pememe MoxkeTe 1a 03HAUNTE
Y CTPEJIMIIOM TIOpeNl KOje MUIIIe ,,0B0 BAKH*.

OxroBopu Koju y cebu caapixke OMIO KakBy rpemiky y mucamy peun (Spelling) m Hucy y ckiamy ca
rpaMaTHYKUM PEIOM PEUH CHITIECKE pedeHuIle Hehe OUTH MpU3HATH — 3aTO POBEPUTE A JIU Cy Ballla peleha
UCIMCcaHa Ta4Ho, jacHo 1 YUTKO.

Tect uma ykymHo 8 cTpana — o0paTuTe Naxkmy J1a HEKY OJ1 CTpaHa IPEIIKOM He NpecKodnTe!

Y TOKY U3PAJIE TECTA HUKAKBA KOMYHUKAIIUJA KAHIUJIATA CA BIJIO KUM HA
BUJIO KOJU HAYWH HERE BUTHU TOJEPUCAHA. U cim nokymaj npenucuBama UJId ynorpeoe
ejekTpoHckux ypehaja 6uio koje Bpcre kazunhe ce TPEHYTHUM YJAJ/BEIBLEM CA UCIIUTA U
JAUCKBAJITU®UKALIUIOM.

TokoMm u3pazie TecTa, He MosKeTe TPAXUTH oMoh i o0jammkena o AeKypHUX. CBe IITO )KEIUTE Ja TTUTaTe
MOpaTe MUTATH MPe HEeTo IITO ce 00jaBM IMoYeTaK U3pajie TeCTa U Ipe Hero BUANTE CAM TecT.

OBuX yIyTCTaBa, Kao U YIyTCTaBa 3a pPeIIaBamke CBAKOT BexOama Tpeda ce JOCIOBHO NPUAPIKABATH.

GOOD LUCK!




PART A - MULTIPLE CHOICE TASKS

For each numbered gap choose ONE of the four offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. DO NOT fill in the
numbered gaps. The first one (0) has been done for you. 20 x 1 point = 20 points

The Queen's Gambit is (0) about a female chess prodigy. It is based on (1)
by the same title. The main character is Beth Harmon, an orphaned Kentucky girl in the 1960s who
becomes a chess champion while still in her teens. Surprisingly, The Queen's Gambit has become the
most-watched scripted series of Netflix: 62 million accounts watched the series in the first month
alone. If you’d stated to the general public a year ago that a show about chess could bring in millions
of viewers, chances are that most (2) you.

An additional value of the series is that it follows a woman boldly navigating in what’s
presented (3) . Namely, the World Chess Federation lists 1,721 grandmasters worldwide, (4)
are women. Among other things, the release of The Queen s Gambit has seen (5)

female participation in the sport, and hopefully this positive trend will continue.

Not only (6) invested in the series but they have also got interested in chess. EBay
stated that within the first ten days of (7) , it saw an impressive 273% surge in sales of chess
sets. Hundreds of thousands of people have registered in online chess playing sites. Over 78 million

standard chess games took place on lichess.com, a free online chess server, compared to (8)

in November 2020. Anna Rudolf, Hungarian grandmaster, feared that she (9) of the
pandemic. However, she turned online and started her streaming chess site with (10) adozen
subscribers, while now she has over 80,000 followers. Everybody (11) by the game.

The pandemic has also contributed to a leap in interest in the game. As we have grown
terrified of living in (12) , chess has become a welcome escape with its sense of stability and
intimacy. The show’s message seems to resonate most with women and parents. Hundreds of women
have signed up for beginners’ classes. Jennifer Shahade, (13) , says that there has been “a
global boom in interest” since the launch of the show especially among girls and women.

The Queen's Gambit has given parents and their children a new shared activity. Social media
is filled with posts of parents showing (14) them connect with their daughters. As the father
of'a teen, David Bradley struggled for years to find activities that he and his daughter Zoe could enjoy
together. Now, they spend hours (15) their next moves. He (16) the show and chess
have become good starting points for bigger conversations. Bradley hopes that the show sends a
message to Zoe that, like Beth, she can find something she's truly passionate about — and that when
she (17) , her talent, dedication and hard work will be rewarded.

(18) a relative beginner, Zoe is doing great. She (19) yet, he said. But last
week, for the first time, she played him to a draw. She is getting ready for her first victory. “My father

will soon wish I (20) opposite him to play chess,” she says with a smile.



A) a Netflix mini-serie

0. éa Netflix’s mini-series
B) Netflix mini-serie a Netflix mini-series
1. | A) Walter Tevis 1983 novel C) the Walter Tevis’s 1983 novel
B) Walter Tevis’ 1983 novel D) a Walter Tevis’s 1983 novel
o | A) will not believe C) wouldn’t have believed
B) wouldn’t believe D) would haven’t believed
3. | A)asaman’s world C) as amen’s world
B) like a mans’ world D) like a mens’ world
4. | A) only sixty of which C) only sixty of whomever
B) only sixty of who D) only sixty of whom
5 | A)araisein C) araise at
B) arise in D) arise at
6. | A) that viewers have become C) have viewers became
B) have viewers become D) viewers have become
7| A) that the series being released C) the series being released
B) being released the series D) that the series releasing
g. | A) ashalfas many C) half as many
B) as half as much D) half as much
9. | A) wouldn’t be able to play in the beginning | C) wouldn’t be able to play at the beginning
B) won’t be able to play in the beginning D) won’t be able to play at the beginning
10. | A) fewer than C) fewer then
B) less than D) less then
11. | A) seem to be exciting C) seems to be exciting
B) seem to be excited D) seems to be excited
12. | A) such threatening world C) so a threatening world
B) so threatening world D) such a threatening world
13. A) two-time US women’s chess champion C) two-time US woman’s chess champion
B) two-times US woman’s chess champion D) two-times US women’s chess champion
14. | A) how have the show and chess helped C) how the show and chess have helped
B) how has the show and chess helped D) how the show and chess has helped
15. | A staring at the board and plotting C) staring at the board and ploting
B) starring at the board and ploting D) starring at the board and plotting
16. | A) takes pride of that C) takes pride in the fact that
B) takes proud in the fact that D) takes proud of fact
17. | A) can C) does
B) is D) could
18. | A) Despite being C) In spite being
B) Despite of the fact she is D) In spite the fact she is
19 | A) hasn’t beaten her dad in chess C) didn’t beat her dad in chess
B) hasn’t beaten her dad at chess D) didn’t beat her dad at chess
o0 | A) have never set on the table C) have never set at the table

B) had never sat on the table

D) had never sat at the table




For each set of gaps choose ONE of the offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. DO NOT fill in the gaps.
The sign O offered as an option in some sentences means that no word or word group is
missing. The first one (0) has been done for you.

10 x 1 point = 10 points

0. When we met, Jane’s baby boy was .
A) lastly / in good health ©1ast / in good health
B) lastly / in a good health D) last / in a good health

1. My mother had just the table when the doorbell

A) lay / had rung C) laid / rang

B) lain / rang D) lied / had rung

2. No sooner his studies he got married.

A) had he finished / than

C) he had finished / than
B) had he finished / when D) he had finished / when
3. While Sue , the postman her a letter.

A) was her nails having done / delivered

C) was having her nails done / delivered

B) was having done her nails / posted

D) had her nails done / posted

4. Joe
weeks ago.

at the meeting yesterday. He was at the hospital. He

with his doctor two

A) mustn’t have been / reserved an appointment

C) can’t have been / made an appointment

B) shouldn’t have been / booked an appointment

D) can’t be / has made an appointment

5. Saint Patrick’s Day is a cultural and religious celebration 17 March, the death
date of the patron saint of Ireland.

A) hold at / memorizing C) held at / monumentalizing

B) hold on / celebrating D) held on / commemorating
6. Big Ben, a British cultural icon, is one of the most prominent symbols of United Kingdom

and a UNESCO World Heritage Site since 1987.
A) the / has been C) the / have been
B) 0/ was D) @ / had been




7. Children believe that Father Christmas leaves presents in stockings which are normally

by the fire or by the children's beds Christmas Eve.

A) @ /hungup/on C) @/ hanged up / at

B) the / hanged up / on D) a/hungup/ at
8. I was for the post I applied for because I could not speak

A) turned up / the Dutch C) turned on / Dutch

B) turned down / the Dutch language D) turned away / Dutch language
9. Mary is said the best female writer two years ago. Due to the lack of inspiration, she
has been avoiding anything lately.

A) to have been / to write C) to had been / writing

B) to be / to write D) to has been / writing
10. The teacher made her the whole novel. She has enjoyed it.

A) read / in reading C) to read / in reading

B) read / reading D) to read / reading

THE TEST IS CONTINUED ON PAGE 6




PART B - FILL-IN TASKS

Fill in the blanks with APPROPRIATE VERB FORMS (finite, non-finite, modalized, perfective,
progressive, active or passive) of the verbs in brackets so that you get grammatically correct
and meaningful sentences which are appropriate for the given context. Pay attention to
word order and spelling. It is NOT acceptable to add any other word (e.g., pronoun, noun,
etc.). The first one (0) has been done for you. 17 x 1 point = 17 points

The great ship, Titanic, set sail for New York from Southampton on April 10th, 1912. Even

by modern standards, the 66,000-ton Titanic (0) was (be) a colossal ship. At that time,
however, it was not only the largest ship that (1) (ever, build),
but it (2) (also, regard) as unsinkable, for it had sixteen

watertight compartments. It was claimed that even if two of these compartments (3)
(flood), it (4) (modal,

float).
Four days after setting out, while the Titanic (5) (sail)

across the icy waters of the North Atlantic, a huge iceberg (6)

(spot) by a look-out. The great ship turned sharply to avoid a direct collision and narrowly missed

the immense wall of ice which rose over 30 meters out of the water beside it. Suddenly, there was a

slight trembling sound from below, and the captain (7) (go)
down to see what (8) (happen). By the time he toured the
damaged area of the Titanic, water (9) (already, enter) five of

its sixteen watertight compartments and the ship was sinking rapidly. The order to abandon ship (10)
(give) and hundreds of people plunged into the icy water, most
of them (11) (freeze) to death.

Today, the wreck of the Titanic is still lying at a depth of about 3,800 meters near the coast
of Newfoundland. Scientists believe that by 2030 the ship (12)

(disappear) completely thanks to bacteria covering the wreckage. Although the wreck of the Titanic
will eventually deteriorate, the tragic sinking of this great liner will always be remembered, for it
went down on its first voyage with heavy loss of lives. The tragedy, however, is believed (13)

(be) avoidable. Namely, if there (14)
(be) enough lifeboats for everybody, 1,500 lives (15)

(modal, save). The tragic story remains in the public

consciousness as a cautionary tale about the perils of human hubris: Titanic’s creators believed they

(16) (construct) an unsinkable ship that (17)

(modal, negative, defeat) by the laws of nature.




IV Adapt the form of the words in brackets to the context so that you get a grammatical and
meaningful text. All the words in brackets have to be adapted to a new form and spelt
correctly. DO NOT use the —ING form. The first one (0) has been done for you.

8 x 1 point = 8 points

Robin Hood was an (0) _adventurous (ADVENTURE) hero of a series of English ballads, some

of which date from as early as the 14" century. He was a (1) (REBEL) outlaw,

and many of the most striking episodes in the tales about him show him fighting (2)

(JUSTICE) and oppression with his band of companions. He is usually

depicted as a heroic archer in English folklore, who (3) (SUPPOSE) robbed

the rich and gave to the poor. A good deal of the impetus for his revolt against authority stemmed

from popular (4) (SATISFY) with those laws of the forest that restricted

hunting rights. His most frequent enemy was the Sheriff of Nottingham, who (5)

(FORCE) the oppressive forest laws.

The early ballads reveal the cruelty that was an (6) (ESCAPE) part of

medieval life. For instance, Robin Hood is often portrayed as the enemy of the ambitious Prince John
and at the same time the ally of his brother, the imprisoned Richard Lionheart, who eventually died
in captivity. Numerous attempts have been made to prove that there was a historical Robin Hood.
However, none of the various claims identifying him with a particular historical figure has gained

much support. In all (7) (LIKELY), the outlaw’s (8)

(EXIST) may never have been anything but legendary.

THE TEST IS CONTINUED ON PAGE 8




Make questions so that the underlined bolded words constitute the answer. Make sure your
questions include the information which is not underlined. Pay attention to word order and
spelling. Do not add new information or change the tense forms. The question should relate
PRECISELY to the underlined parts of a particular sentence. 5 x 1 point = 5 points

Example: They are going to take the English Department entrance exam.

What are they going to take?

Thousands of migrants fled their home countries in search of a better life.

?

Meghan Markle and Prince Harry are having baby names suggested from all over the world.

?

People used to believe that little green creatures lived on Mars.

?

The producers of “Friends: The Reunion” had been waiting for the lifting of the lockdown
restrictions because they wanted to film before live studio audience.

?

It takes sunlight an average of 8 minutes and 20 seconds to travel from the Sun to the Earth.

?

THIS IS THE END OF THE TEST




